/ 'J_)JO

ooucrs SPEAKER MOUNTING

e SN-108

AlwISURSoVSUZMIIU SM-108

o EMI-602AA, EMI-602AB, EMI-602BA (ANg M)
o MD-602 (ANS M)

e MD-108Y, MD-208Y (ANg M8)

 EMI-209YH II, EMI-208YH II (AN M8)

e EMI-108 (ANS M8)

e CSA-108 (ANS M8)

-~ /
ala

@/Ma
g -
0 [2
O=e

P 500 - 750 mm ¢

\ NO. PART QTY

m
\ y'd
aidana:n1siyviu 1. 1

o ¥ rSUZaIOU AATwVIA:oUNSNIBUNNULINKSOIWANU AUISOIKUUUSU
RUGATWIIATY 180 oum Tanuldnudawldhainkatusu

e ADWLDNIRDUROUTA 500 WU, TaldauAQ 750 . sousudaniwanidnouay
410 Uu. T 660 U. 2 2

Wall Mounting Stand

o AUNSNUSUGS: U IvINWUKSoIwaUld _
L - . Arm Adjust
o WAOGDUIKANKUN 2.0 UL, WUAC
o 50uSULHUNTAAVAQ 20 NTANSU (44 Ibs) : \ )
C o MSTHNUILUA 1 é'nuru:ms?a‘v*:u\ Plate Lock

VERTICAL INSTALLATION

o MSIFUIVLA 2 4 (( 18/6

HORIZONTAL INSTALLATION

Hex Screw Blk M6x20/M8x25

5. “ Q 42/6
Flat Washer Blk M6/M8
6. Q Q 6/6
\ / Spring Washer Blk M6/M8
Al features & specifications subject to change without notice. © NPE Industry (Thailand) Co.,Ltd. (R0) 29 July 2023
Distributor : R

@mynpethailand 'i D a Icser |9f99;| THAII!!\ND

Products of NPE INDUSTRY (THAILAND) CO..LTD.

USUn Upwou Isadlioudisasda Oina
v Natthapong Sales & Service Co.,Ltd.

dinaufin : 119,191 AUUSUNIIA SIYSUNASUY WS:UAS NSIINWH 10200
[nseiuri : 0-2995-0094,0-2693-8899 anfuun 18 1auhi1e) [nsans : 0-2226-4020
a']U']IUUSSJaD UU G mu?uan 99 hU 8 ﬂUUtha[‘UﬁU 0.AAO 9. mejnm 1 UI’]US']U
12130 [nsfiwr : 0-2992-7379 Tnsens 0-2992-7380

ajuifanen : 9/8 hU 2 ﬂUUU']JﬂOﬂUOU -UASJYAS N.UJI08Y 9.dWsIu 1. UﬂSUqU
73210 InSAWN : 0-2889-5496-8 Insels : 0-2889-5866 ERE

E-Mail :mynpe @ mynpe.com www.mynpe.com




